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Quick Warm Up

Spﬁﬁd@ rrunute/s,px\ox:hmg/goupéx/, 7>oond/q>otablmor\diu'wim(ﬁaat@.

* Yow could play some games on Hib the Buttorv.
http&://www.topxnar\k&.w.uk/ maﬂw&—gmnes/ hit-the-button

* Yow could practise these times tables on Daily 10",
hitps://wwwwwtopmarks.co.uk/maths-games/dailiyl O

* On, yow could write the times table out orv o plece of paper or v o notebook


https://www.topmarks.co.uk/maths-games/hit-the-button
https://www.topmarks.co.uk/maths-games/daily10

rultiply
mulfiples

Vocabulany,

finlicat
odd, enery



Mentalliy Multipliy Three, Numbers

Remember that when multupbg/ three numbers, harve to work
jwanswenoubwmgﬂstbeipﬁ 7

| ook ab this :
Do s -

. CM@WWWWW@WM
Them,mulhphé/th@semnumbﬂ\&.
2 x 3 =6

2. US&H\E/WMS@I and/mulhpbé/ibbxé/fh@oth@nmb@w%@qu%ﬁm—th@nmbm
Uwabg,owhawm’tou\df,d« Imﬂﬂ&wﬁom gownaedftomndbpl%bglk

6 x &b = 24



Mentallyy Multipliy Three, Numbers. -

ints and, T

DS

H\f/sehmt&ond/hp@

'Look/(ﬁonwonmbm&thabrmﬂﬂpl%/tomokﬁw or less

+ Multiplyy biy 10 Lost

do |10 last

* Look Jor two numbers that multiply to- make a multiple of 10
multiply these, two- numbers that, make o multiple of 10 Jirst



f\/\e,ntalbg/ f\/\uliml%/ Three, Numbers - Hints and, [ips

°Whemgowneed/towwlhplg/bg/q,gowcouw/us@5pidﬂmeand&
°I!lgowmnudhpleg/|| or |2, stoﬁb(ﬁr\ommxjgow\nwnbfpand/counbom

Eg to find 12 % 8
Finst, works oul 10 5 8 = 80

ThemaddZmone/lot&o{l& 80 + 8 = 88 88 + 8 = 96
* I} yow find a particular times table more, difficult, write the multiples of that
numb,ex\dowmtohfipgou/

E.9.7 14 2| 28 ..



Mentalliy Multipliy, Three, Numbers

Remembenr, ltdﬁwv'tmaﬁehwhmm\dmgou/mulhpi%ﬂneﬂrm
numbenrs,

'Yowwill/shlljgﬂtth@samf/onswem
°HoweMep,gl9mchoose@sen&blfj0hdmwdothenwlhplmohom
Wmmuk&ﬂnenumbm&nwdveo&eptowohhw{ﬂm



Flumag/
Lool’opr\_rwg- Numbeps: thab M@w to Make |2 o Less

|l S % 9 = 2 =
2 8 % 3 9w 3

M@m I:_u#m lLast,
3 0 = & = 4 =
I 7w 10w 7 =

Lool’oulor\Twc- Numbers thab Muli‘iplﬂ;tﬂ- Mak&mMulhpl&oJ; 1O
) 5 w9 9w 8 =
6 T oow 6 w3 =







Reasoning |
TDdd;ﬂnd;Lﬂlﬂrwwﬂtﬂlhing,ﬂbﬂubthﬂrﬂnﬂmt& |0 5 5w 2

10 %5 %2 =57

I ) Mg;unﬂn.aepi:ﬂ-
10 %5 %2 s 100
vy

Whohmm@lﬂtedﬂ'@mwwecﬂga? Cmgmbmr\hﬂubwhﬂtthﬂvﬂﬂienchdd;hu&dmm?

Ua&mwﬁau:&stuﬁtﬂ*tﬂ-helpgawexplﬂkuww



Reasoning 2
CWMEU&%M&&WEMWM@DN 8% 3xb

R

I think T need to ) T think & will, be easter
work outs 8 5 3 Jirst, ‘ to works oub 8 x5 sk,
o o

Wh&hﬂachﬂmﬂmmwaytb‘&ndﬂw’m?



Problems 50&@9
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ANSWERS
Fluency

| ook lor Two- Numbers that M@ﬂ# to Make: |2 op Less

| 5 w 9 w 2 = q0

Vi 8 w 3 9w 3 = 7e
M@{j# I:_u* 10 last

3 10 = & = & = 320

4 7T oo 10 w 7 = 490
Lool’or&r\TwN that Mulki to- Make. a: Multi

) 5 w 9 = & = 360

6 7T % 6 9w o = 210



260
180



Reasoning |

Lola is correct. You need. to- do two- steps to- find, the. anewer:

10 %5 -50

50 % 2 - 100

Here is ancther way to- work: oub the answer by multiplying the numbers inv a different: order:
2%5-10

10 % 10 = 100

The answer is the same.

Todd's answer is not correct,
hlﬂlﬁlﬂl’hTDdd:hﬂBWOl"hﬂd}Dlﬂilo " D =50cm1edﬂ.g¢h&hmu$ed;ﬂ'wwxg-opatﬂ:imm1d;
the 50.



Reasoning 2

Ello hae chosen the. easier way to- find, the, answer because, the, answerto- her Jirst step is o
multiple, of, |0.

Fllo’s two- steps are:

8 %5=40

40 % 3 =120

ﬂﬂim@uﬂhﬂ&ﬁmﬂdg&bﬂmmmﬂmmﬂeph&hmdmmﬂbbamwmﬂ
he-wd];be-mlﬂmlghrnmk&mmmtuk& El"ﬂsr'srtwc-step&mﬂ

8 %3-24
2h %5 ="

Efﬂﬁ:srsecnnd;stepwmﬂdbe-zfl— % 5 whichs is much harder to- do- than, 40 » 3.



Problem, Sc-l‘m,

Themmﬁmydiﬂexmtwaﬂah}nmkﬂiﬂ:

23 w8

2 %8 w3

2wl w6

2 %6k

2wl wl?

3wh b

3w’ w8

3%8w?

b v 2 b

b w6 %2

2wl w?

b o, 3 % b

8wl w3

8w 3wl

62 b

6xh x?2

12 %2 %2

b sy % 3



T Wmmmmdmwmmmmmmm u&n-n&op

ﬂ'lf;ﬂﬂﬁﬂﬂf‘ﬁt.

48 mmmwﬂo}ﬂmﬁ&mtﬂﬂm s bs 8s and |2s
Also, T knew that T could use the number 2 because 48 is an emeny numben.

Fmgﬂndﬁlﬂ\mg}\bﬂmtI could use the: number 3 because: 48 is in the 6% table: and 6 can be
dlMdEd.rth3



